
A 

C 

I 

MULTISTORE ECOTOYS Krystian Ślebioda
Sady, Logistyczna 31, 62-080 Tarnowo Podgórne

INSTRUKCJA MONTAiU / ASSEMBLY MANUAL 

0 

0 

0 

• 

0 

0 

CZ ,SCI / PARTS 

M5x35 12 

© ijllll\111\\) 
MSx40 2 

M6x12 2 

M6 
1 

M6 1 

B 

J 

© 

0 

@} 

@ 

@-

0 

• 

• 

ijll\11\l\) 
M6x25 

M6 

�!III I \I \I !II> M6x50

M6 

ijlll\l\\l) 
M6x30 

8 
14 

4 

8 

8 



0 

r========:::::::� 0 

0 

I 

16
0 

0 0 

_L 

0 

1 
6 

® 
0 

0 
0 

0 

0 

0 0 

0 

4 
0 

• 

0 

® 
• 0 

0 

0 

• 

0 

0 

/ 

�L-__-....,r / 

�==-��:::::::::::::::@ 
1 

E=:::====� r----, 

1 
��A 0 

�A , ,r 

, 
/ 

/ 

• ® 
0 

�A • 

�A 
,· 

• 

A M5x35 12 



0 

0 

F 

0 

0 

0 

0 

F 

0 

D@, 
' 

7 

0 

D@, 
' 

'�J 

E 

0 

0 

D 
@ � 111111111111) 4 C M6x50 

• 

O@, 

• 

J 

© � M6x12 1 D 

0 

C 

4 

0 

@B 
M6 4 

0 � II 11111111111�6x40 2

© �\\\\\\\\\\) 4M6x30 



• 

• 

• 

0 

E 

0 

• 

H 
0 

i B 0 

0 

• 

• 

0 

0 

H 

• 

J 

© � M6x12 1 D 

(5) 

I

H $ Ht H® H� = 

is S is B 
B

• 

0 

M6 8 B 

@ �\\\\\\\\\\) 4M6x30 

@ � ll lllll llD 8M6x25 


